Total No. of Questions—35] [Total No. of Printed Pages—2
[4069]-201
S.Y. B.Com EXAMINATION, 2011

BUSINESS COMMUNICATION
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is Communication ? Explain in detail the barriers of

Communication. [16]

2. Define the term ‘Soft-skill’. Explain the elements of Soft-skill. [10]
Or

Explain in detail the Layout of business letter. [16]

3. (A) You have received an enquiry as to the financial standing
of M/s Mehta & Sons, Mumbai. Draft a letter to
M/s Shah Brothers, Pune, the enquirer, giving the favourable

reply. [8]

(B) Draft a share allotment letter on behalf of Sudarshan Chemicals
Ltd., Pune to its member. [8]

P.T.O.



Or

(A) Draft a collection letter on behalf of M/s Vishal Traders, Satara,
to his old customer M/s Manikmoti Traders, Kolhapur, regarding

arrears money for some months. [8]

(B) Draft the minutes of Board of Directors’ Meeting of Swaraj
Electronics Ltd., Mumabi. [8]

4, What do you mean by job application letter ? Describe in detail
the contents of job application letter. [16]

5. Write short notes on (any fwo) : [16]
(A) Electronic Clearance System (ECS)
(B) Types of Reports
(C) Advantages of Computer

(D) Importance of Report Writing.
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Total No. of Questions—4] [Total No. of Printed Pages—8+4

[4069]-202
S.Y. B.Com. EXAMINATION, 2011
CORPORATE ACCOUNTING
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

1. (A) Fill in the blanks (any five) : [10]
(i)  Accounting Standard AS-4 deals with ...................... and
Accounting Standard AS-26 deals with ....................... .

(i) Shares issued at face value is known as .....................

and balance of forfeiture A/c 1is transferred

(iiz) Carriage outward is apportioned on the basis of .......................

Ratio and General Expenses are apportioned on the basis

(iv) The creditors fully secured by specific asset of the business
are known as .......ceeeeevunnnnnn.. and all debts due to Government
are known as ....cccceeveveneennnn. .

(v) In case of holding company increase in the value of fixed

asset is known as ...ccceveviniinnnnnn. and decrease in the
value of fixed asset is known as ..............ce....... of a subsidiary
company.

P.T.O.



(B)

(vi)

(vii)

One liquidation and no formation of a company is known
AS vveeeeeeeeeeeeeeennnn, and one liquidation and one formation
of a company is known as ....................... .

The main purpose of internal reconstruction is to
....................... capital of a company and expenses of

reconstruction account are transferred to ....cocoovvveeunnnn..

account.
Write short notes on any fwo : [14]
(i)  Accounting Standard AS-5
(ii) Redemption of preference shares
(iit) Winding up of a company
(iv) External Reconstruction
(v)  Unrealised profit.

Global Limited has an authorised capital of Rs. 10,00,000 divided

into 10,000 Equity Shares of Rs. 100 each. From the following Trial

Balance as on 31st March, 2011, prepare Trading A/c, Profit and

Loss A/c, Profit and Loss Appropriation A/c for the year ended

31-3-2011 and Balance Sheet as on that date in the prescribed form

under the Indian Companies Act, 1956 :

Trial Balance as on 31-3-2011

Particulars Debit Credit
(Rs.) (Rs.)

Plant and Machinery 6,00,000

Discount on issue of Debentures 19,600

Cash in hand 2,000
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5% Tsunami Bonds (Tax free)

(Face value Rs. 40,000) 39,000
Freehold Land 1,60,000
Interim dividend 18,000
Goodwill 51,000
Administration charges 3,200
Profit & Loss A/c as on 1-4-2010 — 35,000
Leasehold Premises 2,00,000
Debtors and Creditors 80,000 1,22,400
Bills Receivables 54,400
Bills Payables 20,000
Cash at Bank 4,400
Bank overdraft 44,200
Purchases and Purchase Returns 9,60,000 20,000
Sales Returns 31,200
Sales 12,31,200
Discount 400 200
Furniture 10,000
General Reserve 27,000
Advertisement 1,000
Accountancy charges 4,000
Patents 71,400
Stores and spare parts 7,600
Wages 90,000
Insurance 19,600
Calls in Arrears 6,000
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Share capital (8000 equity shares of
Rs. 100 each fully called up) 8,00,000
Loose Tools 30,000
Carriage Inward 10,000
Carriage Outward 4,800
Stock on 1-4-2010 1,90,400
Motor Vehicles 12,000
Octroi 2,800
General Expenses 17,200
6% Debentures 4,00,000
27,00,000 27,00,000

You are required to consider the following adjustments :

(1)
(2)

(3)

(4)

(5)

(6)

(7)
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Stock on 31-3-2011 amounted to Rs. 1,70,000.

Create a reserve for bad and doubtful debts at 5% on Sundry
Debtors.

Interest on debentures and from Tsunami Bonds is due and
outstanding for the year.

Wages payable amounted to Rs. 2,400 and prepaid insurance
Rs. 1,600.

General Reserve is to be increased to Rs. 30,530.
Depreciation is to be provided on written down value method
@ 5% p.a. on Plant & Machinery, 7%2% p.a. on Furniture,
15% p.a. on Loose Tools and 20% p.a. on Motor Vehicles.
Directors of the company declared on 26-1-2011 an interim
dividend for six months ending 30-9-2010 at 3% on paid up
Equity Capital. [14]



Or

Pawan Limited was registered with a capital of Rs. 20,00,000 divided
into 20,000 equity shares of Rs. 100 each. The company offered
to the Public for subscription 10,000 equity shares at a premium
of Rs. 10 per share payable as follows :

Rs. 10 on application

Rs. 30 on allotment (including premium)

Rs. 30 on first call

Rs. 40 on final call.
The company received applications for 16,000 shares. The applications
for 1,000 shares were rejected and application money was
refunded. Pro-rata allotment was made to the remaining applicants.
Excess application money was adjusted against the amount due on
allotment.
All the calls were made and duly received except Mr. Sandesh who
failed to pay first call and final call on 200 shares held by him.
His shares were forfeited and reissued to Mr. Ashok at Rs. 80
per share as fully paid.

Pass journal entries in the books of Pawan Limited. [14]
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3. (A) Attempt the following (4 marks each) : [8]

(1)  Kartiki Plastics Ltd. purchased 1,00,000 equity shares of

Rs. 10 each of Samrat Ltd. at a discount of 10% from

the market. This is to be treated as long term investment.

At the end of the year, the market price was

Rs. 12 per share. Find out the carrying amount of
investment.

(i1) The assets and liabilities of Trimurti Ltd. are valued at

Rs. 16,00,000 and Rs. 11,00,000. Its business was acquired

by Shriman Ltd. at a purchase price of Rs. 8,00,000.

Treat the Goodwill as per AS-26. How should it be
amortised ?

(B) From the following Balance Sheets and other information given
below, prepare a consolidated Balance Sheet of Jivan Limited
and its subsidiary Jyoti Limited as at 31st March, 2011. Show
your workings in detail :

Balance Sheet as on 31st March, 2011
Liabilities Jivan | Jyoti Assets Jivan | Jyoti
Ltd. Ltd. Ltd. Ltd.
(Rs.) (Rs.) (Rs.) (Rs.)
Share Capital Fixed Assets
Authorised & Issued : Goodwill 48,000 36,000
Equity shares of Land & Buildings |1,50,000 |1,20,000
Rs. 100 each 6,00,000 (2,40,000 | Plant & Machinery |2,40,000 (1,32,000
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Reserve & Surplus Furniture &
General Reserve as Fixtures 42,000 12,000
on 1-4-2010 1,20,000| 72,000 | Investments
Profit & Loss A/c 1800 Equity shares
on 1-4-2010 60,000| 24,000 in Jyoti Ltd. 2,88,000 —
Profit for the year 1,08,000| 84,000 | Current Assets
Current Liabilities Stock in Trade 1,20,000 {1,08,000
& Provisions Debtors 24,000 90,000
Bills Payable —| 48,000 | Cash at Bank 72,000 | 30,000
Creditors 96,000| 60,000
9,84,000 (5,28,000 9,84,000 |5,28,000

Other informations :

(1)
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(2)

(3)

(4)

Jivan Ltd. acquired the shares in Jyoti Ltd. on 1st
October, 2010.

The Bills Payable of Jyoti Ltd. were all issued in favour
of Jivan Ltd. which the company got discounted.
The creditors of Jyoti Ltd. included Rs. 24,000 payable
to Jivan Ltd. for goods supplied by that company.
The stock of Jyoti Ltd. included goods of the wvalue
Rs. 9,600 which were supplied by Jivan Ltd. at a profit

1
of 335%

3 [14]

on cost.
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4. (A)
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From the following information of Nageshwar Ltd., prepare

Liquidator’s final statement of Account :

(@)

(b)

(c)

(d)

(e)
)
)

Share capital :

() 1,000, 9% preference shares of Rs. 100 each fully
paid.

(1) 20,000 Equity shares of Rs. 10 each fully paid.

(ii1) 20,000 Equity shares of Rs. 10 each, Rs. 5 paid
up.

6% Debentures — Rs. 50,000

(having a floating charge on all assets)

Creditors :

Preferential creditors — 10,000

Unsecured creditors — 60,000.

The preference share dividend was in arrears for two

years.

The assets realised Rs. 3,00,000.

Cost of winding up amounted to Rs. 7,000.

The liquidator is entitled to a commission of 5% on assets

realised. [10]



(B)

31-3-2011 :

Balance Sheet as on 31-3-2011

The following is the Balance Sheet of Ajantha Ltd. as on

Liabilities Rs. | Assets Rs.
Share Capital Goodwill 50,000
1,500, 6% Preference shares Leasehold property (at cost)] 80,000

of Rs. 100 each 1,50,000 | Plant & Machinery (at cost) | 2,10,000
2,000 Equity shares of Rs. 100 Debtors 30,200

each 2,00,000 | Stock in Trade 79,175
Capital Reserve 36,000 | Preliminary Expenses 7,250
Creditors 42,500 | Profit & Loss A/c 1,10,375
Bank Overdraft 51,000
Depreciation provision

Leasehold property 30,000
Plant & Machinery 57,500

5,67,000 5,67,000

The approval of the court was obtained for the following scheme

of reduction of capital :

(1)

(2)
[4069]-202

9

The Preference shares to be reduced to Rs. 50 per share.

The Equity shares to be reduced to Rs. 12.50 per share.

PTO.



(3)
(4)
(5)

The Balance in Capital Reserve A/c should not be utilised.
Plant and Machinery to be written down to Rs. 75,000.

The Profit and Loss A/c balance and all intangible assets

including preliminary expenses to be written off.

Pass journal entries in the books of Ajantha Ltd. and give

its

Or

Balance Sheet after reconstruction.

[10]

The Balance Sheet of Sagar Limited and Sarita Ltd. as on 31st

March, 2011 was as follows :

Balance Sheet as on 31st March, 2011

Liabilities Sagar | Sarita | Assets Sagar | Sarita
Ltd. Ltd. Ltd. Ltd.
(Rs.) (Rs.) (Rs.) (Rs.)
Share Capital Goodwill 1,80,000 —
Equity shares of Plant & Machinery |1,00,000 (1,60,000
Rs. 100 each 5,40,000 (4,00,000 | Land & Buildings |2,60,000 |1,60,000
Dividend Equalisation Furniture —1| 30,000
Reserve 20,000 — | Vehicles —| 90,000
General Reserve 24,000 — | Stock 1,60,000 |1,00,000
Profit & Loss A/c 36,000 — | Debtors 80,000 | 20,000
[4069]-202 10




Creditors 1,60,000 (1,40,000 | Cash in hand 20,000 | 10,000
Bills Payables 10,000 | 40,000 | Cash at Bank 80,000 —
Provision for Taxation| 90,000 — | Profit & Loss A/c —| 10,000

8,80,000 [5,80,000 8,80,000 [5,80,000

Sagar Ltd. and Sarita Ltd. decided to amalgamate on that date

and a New Company ‘Mahasagar Ltd.” was formed to carry on their

business on the following terms :

(1)

(2)
(3)

(4)
(5)
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Mahasagar Ltd. took all assets of Sagar Ltd. except Debtors
Cash and Bank balances, at 10% depreciation and agreed to
pay Rs. 2,00,000 for Goodwill. It also took over creditors and
Bills Payables.

Tax Liability for 2010-11 was paid at Rs. 76,000.
Mahasagar Ltd. took all assets of Sarita Ltd. except Debtors
and Cash. Land & Buildings and stock were taken at 20%
appreciation and other assets were taken at book values. They
also agreed to take over creditors of Sarita Ltd.

Sarita Ltd. paid bills payables in full.

Purchase consideration was satisfied as follows : Rs. 40,000
to Sagar Ltd. and Rs. 30,000 to Sarita Ltd. The balance of
purchase consideration was paid in equity shares of Rs. 100
each.

11 PTO.



(6) Debtors of Sagar Ltd. and Sarita Ltd. realised Rs. 76,000 and
Rs. 24,000 respectively.

Prepare :

(i)  Realisation A/c, Mahasagar Ltd. A/c, Equity shares in Mahasagar
Ltd. A/c, Cash A/c, Equity Shareholders A/c & Provision for
Taxation A/c in the books of Sagar Ltd.

(i) Acquisition entries of Mahasagar Ltd. [20]
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Total No. of Questions—35] [Total No. of Printed Pages—3
[4069]-203
S.Y. B.Com. EXAMINATION, 2011
BUSINESS ECONOMICS (Macro)
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Define Macro-Economics. Explain the scope, significance and

limitations of it. [16]

2. Define Money. Explain the various functions of money. [16]
Or

Explain the ‘principle of effective demand’.

3. Answer in brief :
(A) What is the value of money ? Explain the Cambridge Approach
to it. [8]

(B) What are the leakages in process of income generation as per

the multiplier principle ? [8]

Or
(A) How do Commercial Banks create credit ? [8]
(B) Explain Say’s Law of Market. [8]

P.T.O.



4, Explain Dr. Dalton’s principle of ‘Maximum Social Advantage’. [16]

5. Write short notes on (any fwo) : [16]
(1) Circular flow of Income
(2) Demand-Pull Inflation
(3) Phases of trade cycle

(4) Deficit financing.

d% : o a™ THOT 0T : 80
o — (i) §d gz giefan sifea o

(i) SoElhSle 3k YA qU U SFifer.

({ii) USHMEIS He3 TUSH U4l TR

1. YUkt RIS Ol <. 9aUcsl 1Rl o], Hed d HAKl
W h. [16]

2. W=l wrem 9. Wmen fafay s T w9 [16]
fepar
JYE AN dd TR &L

3. qIesd I ol

(3) T 0 =N A 7 B oAEEdEl heS gRieH W
. [8]

(9) TUh deldle Id-1 YshlAdies Tesdl  ehivredl  ? [8]
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fepar

(31) AR ohT YAHEI HIN A 2 8]
(&) ‘[’ = INRfguEe fm T & [8]
4. T Teed I ‘HENH WIS oY dcd’ TR . [16]
5. dieqd fou fogr (@@ @F) [16]

(1) 3IU=T=n =fhd g

(2) wrft qro-fafda Sedere
(3) AR Tshi=AT A
(4) = ST
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Total No. of Questions—35] [Total No. of Printed Pages—3
[4069]-204

S.Y. B.Com. EXAMINATION, 2011
PRINCIPLES AND FUNCTIONS OF MANAGEMENT
(Business Management)
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks allotted to the

question.

1. What do you mean by Management ? Explain the functions of

management. [16]

2. What is Management ? Explain the specific contribution of Peter

Drucker in the empirical school of Management Thought. [16]

Or
What is Planning ? Explain the importance of planning. [16]
3. (a) Explain the advantages of Delegation’. [8]
(b) Explain the techniques of ‘Direction’. [8]
Or
(a) Explain the characteristics of leadership. [8]
(b) Explain the various techniques of co-ordination. [8]

4, What is business ethics ? Explain the principles and importance

of business ethics. [16]

P.T.O.



5. Write short notes on (any fwo) : [16]
(a) Management : Art or Science ?

(b) Explain Managerial thoughts by Dr. Babasaheb Ambedkar

(¢) Importance of Manpower Planning
(d) Importance of Communication.
(TS TUIR)
q% : o\ A THU T : 80
o :— () WA WA Hisfau ofemds .
(ii) 3IEhele 3 YO U SFifodr.

1. I WUl T ? FIEATART h T2 h. [16]

2. AT WUNS & ? STVATHed gfew faanren fasmmde ‘e g@l

I ARCE T HL. [16]
feRar
(e ®uS & ? fEsAe 48d W 67 [16]
3. (31) SAYFRIYATE FHES T HA. [8]
() fGEA=t a3 W= Fa. 8]
fepar
(37) gt dfitel T & [8]
(9) o fafay a3 T &4 [8]
4., FEEgR Hidqed WS ®@ ? FoawEiyeh HidHdsl foded o "ed TR
. [16]
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5. dieHE du fow (FuE M) [16]

(31) HIIH : A hl IMWA 2

() T dEdRe AeeHl Id FaEUHhd foar ww S

~

(%) UHes FESEN Hee

(8) WEEE™ Hed.
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Total Na of Questions—5] [Total No. of Printed Pages—3
[4069]1-205
S.Y. B.Com. EXAMINATION, 2011
ELEMENTS OF COMPANY LAW
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.
(ii) All questions carry equal marks.
1. Define a ‘Company’. Explain in detail the features of a
company. What are the kinds of companies on the basis of liability

of members ?

2. What is a ‘Memorandum of Association’ ? What are its contents ?
Explain the legal provisions relating to alteration of object clause.

Or
What is meant by ‘Calls on Shares’ ? Explain the rules of making

a call.

3. (A) What are the conditions to be fulfilled by a company proposing
to issue ‘Sweat-Equity Shares’ ?
(B) Explain the terms ‘Compromise’, ‘Arrangement’, Reconstruction’

and ‘Amalgamation’.

P.T.O.



Or
(A) Explain the e-Filing process.
(B) State the powers of official liquidator which may be exercised

by him in compulsory winding up.

4, State the provisions of the Companies Act, 1956 with respect to
‘Annual General Meeting’.

5. Write short notes on (any fwo) :
(A) Powers of directors;
(B) Qualification and disqualification of directors;
(C) Managing director;
(D) The rule laid down in Foss Vs Harbottle case and protection
of minority.
(TS TUIR)
q% : o\ A THU T : 80

ol :— (i) WA WA ANEE  sTRd.
({i) 9o WAM GHA O SR

({ii) ERUES! U@ TUSH WIAaAhl TEE.

1. HUAE SR AL ST AR iR e . GYEE SeTeeRITEaR

$UY YRR RO ?
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"SR RN M ? HEAIARS diRie Siual 2 3IER HoHd d95o

FOAERHING PRI TRAal &I .

fepar

‘NS WeREEl A0 WS R 2 UTES WehHEl HETU Shudm

oM T &L

(1) ‘e gl e =N foasel YEE SHU HUAM ol e g

0 IERIHh  3Td ?

(F) ‘dewre’, ‘=gaeen’, ‘TR’ oTfr ‘TEHem’ A HSl R A

fepar

(31) T-wEfen gfem T &9

(9) T HUA TGSHTIE) RS T ITRUR AfFd faasiar ifaesr
.

aifties WURO gAEeHidie $U HIFSI, 1956 HEie agal G

e dw o (FveE @m)
(31) Hulosh™  SIfYehR;

() TITohial UISal ST 37Tl

() T GATGh

() ‘B favg Telcr' TG Aol EH U SToudEaeh Hayul.
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Total No. of Questions—35] [Total No. of Printed Pages—3
[4069]-206
S.Y. B.Com. EXAMINATION, 2011
BUSINESS ADMINISTRATION—I
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. State the social responsibilities of business towards customers and

employees. [16]

2. Explain the various factors affecting Plant Location. [16]
Or

What is Globalisation ? Explain the features, advantages and

disadvantages of Globalisation. [16]
3. (A) Explain the functions of Administration. [8]
(B) Explain the merits of Joint Venture. [8]

Or

(A) Explain in brief the role of National Productivity Council. [8]

(B) Define ‘Quality Circle’. Enumerate basic principles underlying
Quality Circles. [8]

P.T.O.



4, What is the process of company formation ? [16]

5. Write short notes on (any fwo) : [16]
(a) Sole Proprietorship
(b)  Political Environment
(c) Role of Government in prevention of Industrial Sickness

(d) SEZ (Special Economic Zone).

(WS ®aia)
q% : A\ A Tepot o1 ¢ 80

M :— () T WA el STeRds SR

({ii) TeIEE HS TUST WEUIehl UerEl.

1. URH 9 KR A=A FIHEAAS HHISR Saee- W% . [16]
2. IR TMAMEIAEE IRomMH HumR ¥ | [16]
ferar

SIfAehIeRT0T TEUIST hTF 2 SIFTdeh kLU=l dfTse, HAQ 9 die T &U. [16]

3. (31 WAl &E W w1 [8]

() HgF 9Rd FueAl Ugde BEe TR & 8]
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fepar

(31) URHE 3IAGehd TREQ=El YfHdT T HA. [8]

() TUE ddesdl AT WRM. TUEN ddeordl fafdd d@ T2 &, [§]

4, HYN IUROET HETGA GE. [16]
5. 9w du o (FueE @|) [16]
(31) Thes SAURT

() TSR Hieo
(%) TSR SErTEeHd  FTEAT=l  YfHe
(5) form enfdfe &= (F).
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Total No. of Questions—35] [Total No. of Printed Pages—3
[4069]-207
S.Y. B.Com. EXAMINATION, 2011
BANKING AND FINANCE
Special Paper 1
(Indian Banking System)
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Explain the role of Banking System in Indian Economy. [16]

2. Explain the functions and progress of Foreign Banks in
India. [16]

Or
Discuss the arguments for and against nationalisation of Banks in

India.

3. (A) Explain the promotional functions of Reserve Bank of

India. [8]
(B) State the functions of District Central Co-operative
Banks. [8]

Or

(A) Explain the progress of State Bank of India.

(B) State the recommendations of Narsimham Committee—II (1998).

P.T.O.



4, Explain the various methods of Credit Control. [16]

5. Write short notes on (any fwo) : [16]
(i)  Progress of Regional Rural Banks
(ii) Urban Co-operative Credit Societies
(iti) Management of Non-Performing Assets (NPAs)
(iv) Debt Recovery Tribunal.

(TS wuie)
d9% : o a™ THOT 0T : 80
T :— (i) §d T disfau TeRds R
(i) e s o T gl
({ii) USHMEIS He3 TUSH U4l TR

1. 9RdE AdeRddie d® Yomordl il T & [16]
2. UNAdie TWhE Sl ki 9 YA TS h [16]
ferar

IRAM® o TSIROT= aH o foleft o e fare &

3. (31) 9RdE g dh<t Yaddias &1 W &L [8]
() fSiegr Hemadi Hgshid Skl i I [8]
ferar

() YR W A=l W T A
(9) RiGen wAfd—II (1998) =0 Rrereh @
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4. gdfqzsoren fafay ugdl T R

5 dewa foor fowr (e 9F)
() YRR UM SwEl W
(i) TP HEhRl  TaEEel

(i) TThta AIoHw  Saa%eTIH

(iv) HoOgS AT LRI,
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Total No. of Questions—4] [Total No. of Printed Pages—4+1
[4069]-208
S.Y. B.Com. EXAMINATION, 2011
BUSINESS LAWS AND PRACTICES
Paper 1
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following in 20 words each (any ten) : [20]

(1) What do you mean by Special General Meeting under the Multi-
State Co-operative Society Act, 2002 ?

(2) State the meaning of Bye-laws under the Multi-State Co-operative
Society Act, 2002.

(3) State fwo objectives of a Co-operative Society.

(4) Define Co-operative Society under the Maharashtra Co-operative

Societies Act, 1960.

(5)  Define ‘Agriculturist’ under the Agricultural Produce Marketing
(Development and Regulation) Act, 1963.

(6) State the meaning of Miscellaneous Insurance.

(7) State the meaning of Fire Insurance Policies.

P.T.O.



(8)
9)
(10)
(11)
(12)

(13)

(D)
(2)
3)
(4)

(1)

(2)

(3)
(4)
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State the meaning of the term Marine Perils.

What is the meaning of the term Burglary Insurance ?
Define Double Insurance.

State the meaning of Life Insurance.

Define ‘Premium’ under the law of Insurance.

State two types of Co-operative Societies.

Answer the following questions in 80 words each (any two) : [10]

State the duties of policyholders.
Distinguish between Fire Insurance and Life Insurance.
Write a short note on Re-insurance.

Explain in brief the term Contract Farming under the Agricultural

Produce Marketing (Development and Regulation) Act, 1963.

Answer the following questions in 150 words each (any two) : [20]

What do you mean by Insurable Interest ? Explain the different
types of Interest.

Explain the procedure for amendments of Bye-laws under

Maharashtra Co-operative Societies Act, 1960.
What are the obligations and rights of Insurer ?

What are the restrictions on the societies ? Explain the steps
for registration of a Co-operative Society under the Maharashtra

Co-operative Societies Act, 1960.



4, Answer the following questions in 300 words each (any two) : [30]

(1) State the objectives of the Multi-state Co-operative Society Act,

2002. Explain the powers and functions of chief executive under

the Act.
(2) Discuss the different types of Insurance Policies.

(3) Explain the powers and duties of officers of Marketing Board
under the Agricultural Produce Marketing (Development and

Regulation) Act, 1963.

(4) What is Life Insurance ? Explain the constitution and functions

of Life Insurance Corporation.

(WS ®qia)
d% : o a™ TeRUT ot @ 80

oAl :— (i) §d WA EEgs  STed.

~

(ii) SRS TRMOOE TAERE T .

(jii) GeuErdt SUS WE=afseRl qgrEl.

N

1. TUolo SW YR 20 IMId foRl (wed &' o [20]

(1) FEUHT ekl 98 HEE], 2002 AT foRTS FEERo |91 =Sl
w7

(2) TEUSE UEhRl HIT HER, 2002 IAd GE-@rern e G

(3) TehRl TERN M e 9
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(4) TR TEHR TEA HQI, 1960 i ‘Fghrl ge’ = e

o

(5) It S fawr (foer@ snfr foma) wmEn, 1963 sTdd ‘Fued
(Faed) =t =ren o

(6) fowie fommer s @

(7) &fF fammn s 4@

(8) ‘WET deh’ WA Il HY WL

9 ‘I fam' W G g wE AR ?
(10) ‘g’ fommen =a1df @

(11) ‘Sfem fam' =t s @

(12) fom w@En si@ia ‘gar’ = =en fea
(13) Wl T&™ e YhR 9O

NN

2. TG WAl IW YR 50 I fERl (W ae) [10]

(1) fomeme= &dead g
(2) fF fam onfr sgfdm Ao w9
(3) ‘yAfdm’ W wfww 9 e

(4) I Sared famt (o snfon fomA) wer, 1963 3@ ‘R 3t

B TohoUdl TR H

3. Wod Tl W YR 150 I foRr (W QN [20]

(1) ‘THEe = ' ®"/IN &d ? o« fafay y&R 9.
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(2) TERE WEhN TR HIEE, 1960 ST Byelaws (dief=m) @
qoiEl gfRdl s R

(3) fomr wfafFet  (Insurer) = ®dd ST fYeER I A_d  ?

(4) TE(S 994 HE ARd 7 HERSE TEHR T FREl, 1960 Faid
TEhRl FEIr= Aiguie T TR .

GHG FEAE SW YRl 300 IR fodl (W |M) e [30]

(1) =BT §EhRI HE HEEl, 2002 = g G A1 HEGA STAd
qed Afuswrar= sfer o wF |

(2) fom demren fafay ger=t ==l @A

(8) I Sared faml (o snfor fomM) wEr, 1963 idvid =Amary
Teolal SASrae AfGR ofr & T &

(4) IfdW =S & 7 AW HEooel WAl STfU hd TR AL
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Total No. of Questions—35] [Total No. of Printed Pages—3
[4069]-209

S.Y. B.Com. EXAMINATION, 2011
CO-OPERATION AND RURAL DEVELOPMENT—I
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain in detail the features and objectives of Co-operative Societies
Act, 1912 and explain its effects on the Co-operative Movement in
India. [16]

2. Explain the growth and progress of multi-state Co-operative Societies
in India. [16]

Or

Explain the provisions regarding management and supervision of
co-operative society according to Maharashtra State Co-operative
Societies Act, 1960.

3. (A) Explain the nature and scope of Co-operation. [8]
(B) Explain the sociological approach of rural development. [§]

Or
(A) Evaluate the progress of Urban Co-operative Banks in Maharashtra.

(B) Discuss the contribution of Karmavir Bhaurao Patil in rural

development.

P.T.O.



4, Compare the Group Approach and Mass Approach of rural development.
Which approach is suitable in India ? [16]

5. Write short answers of the following (any two) : [16]
(1) Sugar factories and rural development in India
(2)  Contribution of Mahatma Jyotirao Phule in rural development
(3)  Globalisation and rural development

(4) Development strategy of rural development.

(A0S ®UI)

q% : A\ A TEHOT TOT ;80
T :— (i) §d T diefau eRds R
(ii) ISElhele 3k YO O SRiferr.

1. TEHR TN HEel 19127 afiTey onfur Sfese gfoe® T wed ™

ARATGIG HERR Fesdalol Hoo IR foar1g . [16]
2. YRAM® IRUSI-GehRl HRIE 96 9 Wl TR & [16]
ferar

AR T4 UEhRl HEME ST 1960 JHR HehRl HEA™ Fewad 3T
RoHe S R T R

3. (31) UEhNE WERY g AT L H. [8]

() o formErn gHifSe gitesdhd e 4. [8]
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(37) WERINM® M WehRl A<l WAl Aemed  JedHe &

(F) HHAR KU Ul Ig UrHor foehmddies Ire IeRk ==l .

ITHtoT fahTETeTea=n ¥ gftesha Tfor Faifior gfteshia AN qor 3. 9RAde
o foRTEEE At FIvar g STEY oMY, o @i [16]

ol W deRd S fael (Fvad d@F ) [16]

(1) HehKl UER HREM AV 9RAie JHEo fge™

(2) Wer wifE | 9™ T faeeEde dreH

(3) Sfdeptshtor enfor ywfior faeshrE

(4) T foesrrreTede faREfas®es &Rl
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Total No. of Questions—35] [Total No. of Printed Pages—4+2

Time :

N.B. :—

1. (@A)

[4069]-210
S.Y. B.Com. EXAMINATION, 2011
COST AND WORKS ACCOUNTING
Paper 1

(NEW 2008 PATTERN)

Three Hours Maximum Marks : 80

(i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

(izi) Use of calculator is allowed.

Fill in the blanks : [5]

(i) The basic needs of the users of accounting information
can be satisfied by................ Accounting.

(€77 HUUUUON cost vary in direct proportion to volume of
output or turnover.

(itzi) The cost incurred for promoting sales and retaining
customers is treated as...................... .

(iv) ABC Analysis is a method of material control according
{70 FOPTRTRRN .

(v) A sound wage system should ensure................. guaranteed

wages to each worker.

P.T.O.



(B) State whether the following statements are True or False : [5]
(i)  Cost Accounting focuses on costs, but not on revenues.
(i) A cost unit is a unit of measurement of efficiency.
(i) Maintaining of Bin Card is an unnecessary duplication.
(iv) A bill of materials is prepared by a production department.

(v)  The merit rating distinguishes between temporary workers

and permanent workers.
2. (A) Explain the basic concepts of Cost, Costing and Cost Accounting. [8]
(B) State the limitations of Financial Accounting. [7]

Or

Describe in brief the procedure for purchasing of materials from

outside. [15]

3. Write short notes on (any three) : [15]
(i) Bin Card
(i) Decentralised Store
(iit) Periodic and Perpetual Inventory System
(iv) Timekeeping

(v) Causes of Labour Turnover.

[4069]-210 2



4. (A)

The following information have been taken from the books of

H.K. Manufacturing Company. Prepare a Cost Sheet of the

[4069]-210

manufacturer : [15]

Particulars Amount

(Rs.)

Direct Materials used 1,50,000

Direct Wages 1,30,000

Depreciation of Factory Buildings 5,000

Insurance — Staff Car 1,000

— Office Building 800

— Factory Building 700

Expenses of Delivery Vans 1,500

Depreciation — Office Building 2,000

— Staff Car 500

Salaries — Sales Manager 10,000

— Chief Engineer 11,000

— Office Staff 25,000

Warehouse Expenses 2,500
Electricity (Including Rs. 2,000 for Office and

Rs. 500 for Showroom) 8,000

3 PTO.



Showroom Expenses 3,500

Cost of Printing of Price Lists 1,000
Advertisement 2,700
Sundry Factory Expenses 20,000
Sales Promotion Expenses 2,000

Expenses for Participation in Industrial Exhibition 5,000

Opening Stock of Finished Goods 40,000
Closing Stock of Finished Goods 25,000
Sales 5,00,000

(B)  On the basis of the following information, calculate the earnings

of A and B under Taylor’s Differential Piece-rate System : [5]

Standard production — 8 units per hour
Normal time rate — Re. 0.40 per hour
Differentials to be applied — 80% of piece-rate

below standard
120% of piece-rate at
or above standard

In a nine-hour day A produces 54 units and B produces 75

units.

[4069]-210 4



5. (A) From the following particulars relating to material A, show

how the value of the issues should be arrived at under FIFO

method :

1-1-2010
3-1-2010
7-1-2010

11-1-2010
13-1-2010
15-1-2010

17-1-2010

19-1-2010
25-1-2010

[10]

Opening Stock 1000 units at Rs. 5 each

Purchased 900 units

at Rs. 6 each

Issued to Job No. 137, 1200 units vide M.R.

No. 34
Purchased 800 wunits
Purchased 300 wunits

Issued 400 units to
No. 42

Issued 600 units to
No. 48

Purchased 200 wunits

Issued 600 units to
No. 72

at Rs. 6.20 each
at Rs. 6.40 each
Job No. 141 vide M. R.

Job No. 147 vide M. R.

at Rs. 6.50 each
Job No. 150 vide M. R.

(B)  You are supplied with the following information from the books

of a concern :

Particulars Material P Material Q
(Rs.) (Rs.)
Opening Stock 14,000 20,000
Purchases 2,30,000 3,36,000
Closing Stock 10,000 24,000

Calculate the materials turnover ratio of the above materials

and state which of the two materials is more fast moving. [10]

[4069]-210
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(B)

[4069]-210

Or

Calculate total earnings and effective wage rate from the following

information on : [10]
(a) Halsey Plan and

() Rowan Plan.

Standard Time — 50 hours

Actual Time Taken — 40 hours

Rate of Wages — Re. 1 per hour

Dearness Allowance — 50 paise per hour worked
6



Total No. of Questions—?5]

Time :

N.B. :—

1. @A)

[Total No. of Printed Pages—8
[4069]-211
S.Y. B.Com. EXAMINATION, 2011
BUSINESS STATISTICS
Paper 1
(NEW 2008 PATTERN)

Three Hours Maximum Marks : 80

(2)

(i1)

All questions are compulsory.

Figures to the right indicate full marks.

(zzz1) Use of calculator and statistical tables is allowed.

Attempt any four of the following : [2 each]

(@)

(b)

(c)
(d)

A distribution has mean 30 and standard deviation
is 6. Coefficient of skewness is 0.3. Find its mode.
State the difference between interpolation and
extrapolation.
State components of time series.
State whether each of the statements given below is
true or false :
(i)  For positively skewed distributions :

Mean < Median < Mode.
(i1) Assignment problem is particular case of transpor-

tation problem.

P.T.O.



(B)

[4069]-211

(e) Define Break Even Point (BEP).
(f) Given the class frequencies :
N = 1000, (A) = 550, (B) = 700, (AB) = 300.
Determine the class frequencies (aB) and (ab).
Attempt any two of the following : [4 each]
(a) For a group of 10 items, Sx = 452, sx2 = 24270
and mode = 43.7. Find the coefficient of skewness and
interprete the result.

(b) Determine initial basic feasible solution using matrix
minima method for the given transportation problem.

Also find corresponding cost of transportation :

Destination ® D; Dy Dg Dy | Supply
Origin ~—
04 3 1 7 4 300
0, 2 6 5 9 400
O3 8 3 3 2 500
Demand 250 350 400 200 1200




(¢) The sales of a company in lakhs of Rs. for the year
1998 to 2002 are given below. Estimate sales for the

year 2005 by fitting a straight line y = a + bt :

Year (¢) Sales (y)
1998 12
1999 20
2000 28
2001 32
2002 50
2. Attempt any two of the following : [8 each]

(a) The values of X and Y are given below. Find the value of

Y when X = 10 by using Lagrange’s Formula :

X Y
5 12
6 13
9 14
11 16

[4069]-211 3 P.T.O.



(b)

(c)

[4069]-211

The following results were obtained with respect to three

characteristics :

X, : Marks in Final Test

X9 : Marks in First Test

X3 : Marks in Second Test
Scored by 120 students. Further :

X, =639 X, =175 X, = 875

s? = 49.75 s2 = 289 s = 3.28
rig = 065 rqg = 0.70 r93 = 047
(i)  Obtain the equation of least square regression plane of
X; on Xy and Xsg.
(i1) Estimate marks in Final examination when marks in First
test and Second test are 6 and 8 respectively.
Use simplex method to solve the following LPP :
Maximize Z = 4xq; + 10xg
Subject to constraints
2x1 + x9 £ 50
2x1 + bxg £ 100
2x1 + 3x9 £ 90
xq1, x9 > 0

4



3. Attempt any two of the following : [8 each]

(@)

(b)

[4069]-211

The following is the annual premium charged by LIC for a

policy of Rs. 1,000 :

Age Annual Premium
(in yrs.) (in Rs.)

20 23

25 26

30 30

35 35

40 42

Using Newton’s formula, estimate premium for age 26 years.

(2)

(i1)

State AR(I) model and explain procedure to fit the
same.

The following is the information on employment and
education :

Employed Graduates = 286

Unemployed Graduates = 48

Employed Undergraduates = 450

Unemployed Undergraduates = 216.

Calculate the coefficient of association between the
attributes employment and education. Comment on the
result.

5 P.T.O.



(c)

A firm produces x tonnes of the items at the total
cost :
Clx) = 3X + 15.
Find :
(i) Average cost when output is 10 units.
(i1) The average variable cost.
(iit) Average fixed -cost.

(iv) Marginal average cost.

4, Attempt any two of the following : [8 each]

(@)

[4069]-211

(i) Estimate trend using 3 yearly moving average for the
following data :
Year Production

(in tonnes)

1998 78
1999 73
2000 71
2001 73
2002 75
2003 78
2004 73
2005 77
2006 79

(i1) ¥ g = 07, r'ng = Tg9g = 05, find R123, r12.3-

6



(b) The following data give the number of women at child bearing

ages and yearly births by quinquennial age groups for a city.

Calculate GFR, ASFR and TFR :

Age Group Female Population | Number of Births

15—19 24,000 800
20—24 20,000 2,400
25—29 15,000 2,000
30—34 12,000 600
35—39 6,000 120
40—44 4,000 10
Total

(¢)  Solve the assignment problem which minimizes total cost using

the following cost matrix :

Machines ® M; My, Mg My
Jobs
Jq 40 50 60 65
Jo 30 38 46 48
Jg 25 33 31 43
Jy 39 4 51 59
5. Attempt any two of the following : [8 each]
(a) Define the following terms :
(i) Independence of two attributes
(i1) 'Total cost and marginal cost
(iiz) Unbalanced assignment problem
(iv) Linear programming problem.
[4069]-211 7 P.T.O.



(b)

(c)

Distribution of population according to different age groups

and age specific death rates (ASDR) is given below.

Compare the mortality situation of the year 1981 and 1991

taking population in 1981 as a standard population :

Age Group Year 1991 Year 1981
(in yrs.) Population ASDR Population ASDR
0—5 20,000 20 25,000 26
5—15 50,000 06 40,000 9.5
15—35 65,000 12 60,000 12.5
35 & above 20,000 25 15,000 41

Find Initial Basic Feasible Solution of the following transportation

problem using Vogel’s Approximation Method :

To
From D, D, Dy Availability
04 16 19 12 14
0, 22 13 19 16
Og 14 28 08 12
Requirement | 10 15 17
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Total No. of Questions—35] [Total No. of Printed Pages—3
[4069]-212
S.Y. B.Com. EXAMINATION, 2011
BUSINESS ENTREPRENEURSHIP
Paper 1
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Define the term ‘Entrepreneur’. Explain in detail the functions of

Entrepreneur. [16]

2. Explain the contribution of Shri Vitthal Kamat in the development
of his hotel business. [16]

Or
Define the term ‘Innovation’. Explain in detail the sources of

Innovation. [16]

3. (A) Distinguish between Individual Enrepreneurship and Group
Entrepreneurship. [8]

(B) What is Self-Help Group ? Explain its importance. [8]

Or

(A) Define the term ‘Franchising’. Explain the advantages of
Franchisee. [8]

(B) Explain the remedies for Entrepreneurship Development in
India. [8]

P.T.O.



4, Define the term ‘Service’. Explain in detail the types of Service

Industry. [16]
5. Write short notes on (any fwo) : [16]

(A) Social Responsibilities of Business towards shareholders and

consumers

(B) Below Poverty Line (BPL)

(C) Business Process Outsourcing (BPO)

(D) Tools of Creativity Development.

(WS wUia)

q9% : dF a™ THU T : 80

o :— (i) §d WA disfau eRds R
(i) IoEhEl® 3T U IO SFifadm.

1.  ‘SEUNR W Heeqddl Al Ul SESREl S Gfas W . [16]

2. it fago *md = TS WA fIFMe AEH TR FU. [16]

fepar

eIl aXual haN o

‘TefAfdd’ W wIEr e W qafHde Eid 9fas) TS R, [16]

3. (3)
()

(37)

(=)
[4069]-212

SRR SEIShdl STfUT O SEShdl Ae T TR HA. (8]

=g TERAdl TR WUN % 7 N Hed W FH [8]
fepar

‘FEEEIYER’ A GIAE AR . HaHEIaeR  fHefaurn e

hde I [8]

ARAe  SEiSehdl  fIh@Ema Iq™ T2 6. [8]
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4,  ‘Har A Gt ATEA A Gl JWME JRR HiOER TS k. [16]

5. dewd four fogr (@ dF) [16]
(37) YFYNeh 3T U Il Teuidie HadEr=l dHifSe  Sereer=

(9) TRsy T@ee @k (BPL)
(F) Y FEdas gea (BPO)

(8) TeHRTedr fasrmEmt 3.
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Total No. of Questions—35] [Total No. of Printed Pages—3
[4069]-213
S.Y. B.Com. EXAMINATION, 2011
MARKETING MANAGEMENT—I
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is Consumer Movement ? Explain the principles and objectives

of consumer movement. [16]

2. Explain the traditional and modern approaches of marketing to

business. [16]
Or
Define Marketing. Explain the importance of marketing. [16]
3. (a) Explain the marketing strategies for services. [8]

>

(b) ‘Promotion as component in marketing communication
explain it. [8]

Or
(a) Explain the features of customer relationship management. [§]

(b) Explain the features of agricultural marketing. [8]

P.T.O.



4, Explain the difference between agricultural product marketing and

manufactured product marketing. [16]

5. Write short notes on (any fwo) : [16]
(a) Importance of banking services in marketing.
(b) Need of consumer education.
(¢) Difficulties related to customer relationship.

(d) Importance of marketing communication.

(WS ®aia)
q9% : dF a™ TeRUT Ot @ 80

1. URH dFoodes WUN HF ? Ugh TBddid ded oo 3fesed  Tuse

EX [16]

2. UM T@ew =N SN 9 FEEEEe RN YHE d WRNG TRIGH

W & [16]
ferar

fIUuETT ome 9. fauuHe A W R [16]

3. (37) Har= fauuAmERee Seue TR & [8]

(&) ‘fowa Fg fouoH SFUEET TE YeR’ W & [8]
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(31) TeH GaY TR dRTeY T H. [8]
() Ao aRTed TR w. [8]

4. IaHed faquE oAU Icfed oAl fIUUATGie % e R [16]

5. dedm fow fom (FvE €M) [16]
(37) ¥ Tou fauoAde wed.
() ek Frgom=E TS

(%) TEh oY FAEAUAG  ASHN.

(8) fouom G HEE.
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Total No. of Questions—35] [Total No. of Printed Pages—3

Time :

N.B. :—

[4069]-214
S.Y. B.Com. EXAMINATION, 2011

AGRICULTURE AND INDUSTRIAL ECONOMICS

Special Paper 1
(NEW 2008 PATTERN)

Three Hours Maximum Marks : 80

(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the Institutional and Non-Institutional Sources of Agricultural

Finance. [16]

2. Explain the defects of Agricultural Marketing and suggest its

measures. [16]

Or

Explain the scope and importance of Industrial Economics. [16]

3. A
(B)

(A)

(B)

Explain the causes of Low Agricultural Productivity. [8]

Explain the problems in measurement of Industrial

Productivity. [8]
Or

State and explain the measures to improve the Agriculture

Productivity. [8]

Explain the features of Special Economic Zone (SEZ). [§]

P.T.O.



4, Explain fully the Sergeant Florence theory of Industrial
location. [16]

5. Write short notes on (any fwo) : [16]
(1) Scope of Agriculture Economics.
(2) Factors determining the optimum size of a firm.
(3) Economies of large scale production.

(4) Importance of Industrial location.

(TS EUIR)
d9% : o9 a™ THOT 0T : 80
M :— () T WA el SeRds SR
(i) SoElHSle 3k FIA qU U it
({ii) USHMEIS He3 TUSH U4l TR

1. TN fouEca Sus 9 fTR-ueemms q9r (F) W &4 [16]

2. 3ade fowl FaEEde ¥ 9RE AEde IUE g [16]
fepar

Nt AR M F He™ TR HA. [16]

3. (31) Il IUCHAT HH FAYUIET FRU T KA [8]

(9) oiENfir IUEHal Hevadies STl T . [8]
feRar

(37) Il IUGhal GURTATEES! U™ @ § TR & 8]

(@) fRW e &om=n (S9) R e Fa 8]
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4, Ul TSR I AEnfe Tom fAfREden fogia afas T w0 [16]

5. dieqd four fogr (o @F) [16]
(1) Fo BT AT
(2) TEEEE YW SRREN SfOUR See.

(3) WIS YHUMEU® 3IARA™ HEe  (faasgadn).
(4) SiEifer wEfHAR=dE 98@.

[4069]-214 3



Total No. of Questions—4] [Total No. of Printed Pages—4

[4069]1-215
S.Y. B.Com. EXAMINATION, 2011
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
Paper 1
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]
(1) Define Defence Management.
(2) Write the meaning of National Power.
(3) What do you mean by Resources for Defence ?
(4) State the meaning of strategic control.
(5) Define war time economy.
(6) What do you mean by Defence as an Economic Problem ?
(7)  State the meaning of Foreign Collaboration.
(8) What do you mean by Self-Reliance Programme ?
(9) Define ‘Threat Perception’.
(10) Write the meaning of Deficit Finance.
(11) State the meaning of strategic planning.
(12) What do you mean by Performance Budget ?
(13) Write any two functions of Financial Planning.

P.T.O.



2. Answer in 50 words each (any two) : [10]

(D)
(2)
3)
(4)

Explain merits of peace time economy.
Write a note on pre-war preparation.
Discuss the role of Foreign Collaboration in Defence Production.
Discuss relationship between Political Ideology and Defence

Expenditure.

3. Answer in 150 words each (any fwo) : [20]

(D)
(2)
3)
(4)

Discuss National Power and Defence Expenditure.
Explain the causes of increasing Defence Expenditure.
Describe importance of Zero Base Budgeting.

Discuss defence expenditure of India since 1990.

4, Answer in 300 words each (any {wo) : [30]

(D)
(2)
(3)
(4)

Explain Impact of decreased Expenditure on Armed Forces.
Discuss Defence as an Economic Problem.
Describe salient features of Indian Economy.

Explain the role of Public Sector in Defence Production.

(WS ®aial)

d9% : o a™ TeRUT ot @ 80
T :— (i) §d WA diefau eRds R

1. ToRhl

(1)
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(i) IoEhel® 3T U IO SFifadm.

20 IR SN A (HI0El TEN) [20]

TRV FATI— AT &l
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(2) T I WUS ST 2

A

(3) TIEUMEIE WEH GUR WRUN & 7
(4) wWRke = — ord fomn

(5) IsHoM AdFerA — AARAT L
(6) TR F oM THEN WIS HE 7

(7) T&hig TWehd — A4 fomn
(8) Uk fomw Jum wWUN & ?
(9) Tt Gehoddl — Al <l

o [aWa

(10) fewifge wEAY @1d foml

SN

(11) wHiew feE 31 e &+

(12) =EIYIE AdH®Hed US| HEF 2
(13) ofder fasARl 9 *E g HA

2, TR 50 IM SW oA (FUE 9 [10]
(1) INadreereE  sTdfeerd™ o T 3.
(2)  ggrgeiiassar g foqur fomn

(3) TR&U IAGAMIS Wehld HehME=l YHAT — == .

(4) TSR foarRym oo WU T Idie Gogersd =< 6.

3, TR 150 IRM IW oA (HUE &) e [20]
(1) T I ST EReI @ AR 94l h.

(2) TP WY dRUEAT hIUNOEd == .

(3) I oNH AdES®ed TN HL

(4) 1990 TaCAT YRATAl SV EHiOed 9= k.
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4, TR 300 I SW SN (KGR qE) [30]

(1) ¥TRAERK® @ &I DHeAHes WA ICHER TURT TRUM T

< .

(2) ‘“wReur ww oMf¥es gwer! ==l A

(3) YR dFeRg= YHE TUEHE 9uH

(4) WU SARAMIE Usorh Heeddl ffHehl ¥ &
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Total No. of Questions—35] [Total No. of Printed Pages—3
[4069]-216
S.Y. B.Com. EXAMINATION, 2011
INSURANCE, TRANSPORT AND TOURISM
Paper 1
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Define Life Insurance. Evaluate the working of Life Insurance

Business. [16]

2. What is General Insurance ? Explain in detail the various types
of General Insurance. [16]

Or
Define Insurance Agent. Explain the role of Insurance Agent in

Insurance Business. [16]

3. (A) Write a brief note on Insurance Regulatory Development
Authority (IRDA).
(B) Explain the impact of Tourism on social aspect of the
society. [16]
Or
(A) State the regulations of Insurance in India.

(B) Explain the significance of Tourist-Accommodation. [16]

P.T.O.



4, Define Tour Operator. Explain in detail the responsibilities of Tour

Operator. [16]

5. Answer the following questions (any two) : [16]
(1) Explain the Types of Tourist Accommodation.
(2) Write a short note on Historical Tourism.
(3) State the essentials of Tour-planning.

(4) Explain the impact of Tourism on Environment.

(W& T UIR)

q% : o A TEHUT T ;80
T :— (i) §d WA diefau TeRds R
(i) SoEhele 3w ol U eFifaa.

1. ‘ogfawrEt’ w@ren 9. W FewEEl emi e wa. [16]

o [ o

2. TagEgRe faqr =ue i ? geqieRo foee fafay ger gfass

e HA [16]
fepar

fom-gfafei=t’ =ren @ fom =ewma  fam-ufae=t  (Insurance-

Agent) VAT T [16]

~

3. (37) ‘fomr famarmes faem srfye’  (IRDA) JImaX enssdrd  feu
ot
(9) TUNIAG TS, SeheR JheArl USU g9 T 4. [16]
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fepar

(37) 9Rde fomren "eulde f=m =

(9) YIeh-fTageaa®= Agd TR & [16]
CATST- STRITSTeRT= AT 9. ATS-STRTSIRT=AT - Joae=a] Hfasl s
. [16]
e WAl S T (HIUaE ae) e [16]

(1) vden-fam =JaE¥e YR W &1
(2) ‘Ufqefger-wEied’ IR desd du fom

(3) IEN-fTarSAT=n AR Ie del 9L

(4) YISATI-UHGOMER. GSUR Y4 T2 .

[4069]-216 3



Total No. o Questions —5] [Total No. of Printed Pages—3

[4069]-217

S.Y. B.Com. EXAMINATION, 2011
COMPUTER APPLICATION
Paper 1
(Visual Basic)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks

N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

: 80

(iit) Neat diagrams must be drawn wherever necessary.

1. (A) Answer the following questions (any four) :
(@) Define Expression with an example.
(ii) What do you mean by MDI Child Form ?
(iit) What are the types of DSN ?
(iv) Define Popup menu.

(v) What is an array ?

(B) Give the output of the following section of code (any two) :

(1) Dim str as string

Dim i as Integer

str = “UNIVERSITY OF PUNE”

[8]

[8]

P.T.O.



i = len (str)
print 1
(iz) Dim i as integer
For i = 2 to 20 step 2
print 1
next
(izi) Dim i as integer
i=1
Do while i < = 10

Print 1
1 =1+ 1
loop
2. Attempt any o of the following : [16]

(i) Write a note on Model and Modelless Dialog Box.
(i1) Explain the steps to connect with access database using ADODC
control.

(ii1) Explain Combo Box with its types and methods.

3. (A) Write the purpose and syntax of the following (any four) : [8]
(1) Checkbox
(i1)  DriveListBox
(tit) Msgbox
(iv) For............ Next

(v) File List Box.
[4069]-217 2



(B) Write properties and methods of the following (any two) : [8]
(1) List Box
(i1) Picture Box

(z11) Textbox.

4, Attempt any #fwwo of the following : [16]
(i) Explain Data report facility in Visual Basic.
(ii) Explain the different data types in Visual Basic.

(iiz) Explain in detail the Dynamic (Run Time) Menu.

5. Attempt any #fwwo of the following : [16]
(i) Design a form in VB to calculate the student mark sheet for
six subjects. Display six textboxes for reading marks of six
different subjects and 3 buttons to calculate total, percentage,
and grade of the students. Write a program for calculating
total, percentage, and grade of the student.
(ii) What is Data Source Name ? Explain the different DSN and
procedure of creating user DSN.

(i1) Explain various numeric function used in Visual Basic.
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[4069]-218

S.Y. B.Com. EXAMINATION, 2011
COMPUTER APPLICATION-III
(Vocational Course)—RDBMS (Theory)
(NEW 2008 PATTERN)
Time : Two Hours Maximum Marks : 40

N.B. :— (i) First question is compulsory and attempt any five questions
from remaining questions.

(ii) Draw a neat and labelled diagram wherever necessary.

1. What is RDBMS ? Explain features of RDBMS. [10]

2. Explain in brief the following with syntax and example. [6]
(a) INSERT INTO
(b) ALTER TABLE

3. Explain benefits of database in business. [6]

4. Explain the following functions : [6]
(@) LENTH(

(b) MAXO(

P.T.O.



5. Explain in brief the following : [6]
() DDL

(b) NOT NULL

6. Explain the following with example : [6]

(a¢) Any three character functions.

(b) Unique constraint

7. Write short notes on Data types in SQL. [6]
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[4069]-219

S.Y. B.Com. EXAMINATION, 2011
ADVERTISING, SALES PROMOTION AND SALES
MANAGEMENT
Paper III (Vocational)
(Advertising and Media Planning)
(NEW 2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. State the concept of Evaluation of Advertising effectiveness. State
the methods of testing of Advertising effectiveness. Explain the methods
of post-testing. [12]
Or
What do you mean by Copy ? Describe the elements of a Copy

in Print Media.

2. What is Media Planning ? Discuss the steps involved in Media

Planning. [12]

P.T.O.



Or

Suggest an appropriate strategy for the advertisement of ‘Insurance

Policies’. Justify your answer by giving suitable examples.

3. Write short notes on (any fwo) : [16]
(a) Role of Graphics in Electronic Media.
(b) Types of Brand Names;
(¢) Objectives of Advertising Strategies;

(d) Media Reach an Media Frequency.

[4069]-219 2



Total No. of Questions—4] [Total No. of Printed Pages—3
[4069]-220
S.Y. B.Com. EXAMINATION, 2011
TAX PROCEDURE AND PRACTICES
(Vocational Course)
Paper III
(Income Tax)
(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any five) : [10]

(i) What is the scheme of Income Tax ?

(ii) What is meant by ‘Assessment Year ?

(iit) What is exempted income u/s 10(2A) ?

(iv) Who has to deduct the tax at source ?

(v) To whom the 1st Appeal under Income Tax Act is to be
made ? When ?

(vi) What is meant by ‘Cost Inflation Index’ ?

(vii) Enumerate the rate of taxes applicable to an Individual for
Assessment Year 2011-2012.

P.T.O.
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2. Answer in 50 words each (any two) : [8]
(i) Explain the meaning of previous year. What would be the
previous year for the new business started during the Financial

Year ?

(ii) When is an Individual said to be resident but not ordinarily
resident in India ? Discuss the scope of taxable income in
his case.

(zit) What is meant by set-off or carry forward of losses ?

(iv) Discuss deduction available u/s 80G in detail.

3. Answer in 150 words each (any three) : [15]

(i) What is meant by ‘Short-term capital gain’ and ‘Long-term
capital gain’ ?

(ii) What is meant by general deductions ? Discuss deduction
available u/s 80C.

(i) What do you understand by Income From Other Sources ?
State the main incomes which are included under this head.

(iv) What is meant by T.D.S. ? Discuss the provisions for T.D.S.
from salary.

(v) What is meant by assessment ? Discuss the provisions for

‘Best Judgement Assessments’.

2



4, What are the kinds of returns ? Is it compulsory to file returns
under Income Tax Act ? [7]

Or
Mrs. Sangeeta submits the following particulars. Calculate taxable

income and tax payable for A.Y. 2011-2012 :

Rs.
(i) Salary per month 16,000
(ii) Dearness Allowance per month 8,000

(iii) H.R.A. p.m. (Rent paid house at Pune 15,000 p.m.) 10,000
She has house property let out on a monthly rent of Rs. 2,000.
The municipal value is Rs. 30,000. Municipal taxes paid @ 12% of

municipal value.

She has interest on Savings Bank Alc 34,000 p.a.
Interest on NSC VIII issue 34,000 p.a.
She paid Life Insurance Premium Rs. 6,000 p.a.
She contributed to P.P.F. Rs. 6,000 p.a.

[4069]-220 3



Total No. of Questions—7] [Total No. of Printed Pages—1
[4069]-221

S.Y. B.Com. EXAMINATION, 2011

COMPUTER APPLICATION—IV

(Software Engineering) (Theory)

(Vocational Course)
(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :(— (i) First question is compulsory and attempt any five from

remaining questions.
(ii) Draw a neat and labelled diagram wherever necessary.

1. Draw an E-R diagram for SALES ORDER SYSTEM in which entities

are customer, item Enquiry, quotation etc. [10]
2. Explain Waterfall model with diagram. [6]
3. Explain System implementation, follow up and maintenance. [6]
4. Explain the following : [6]

(a) Decision Table

(b) Input design.

5. Explain feasibility study. [6]
6. Explain system analyst. [6]
7. Write a short note on Software Qualities. [6]
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S.Y. B.Com. EXAMINATION, 2011
ADVERTISING, SALES PROMOTION AND SALES
MANAGEMENT
Paper IV
(Personal Selling and Salesmanship)
(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40
N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define ‘Personal Selling’. State and explain importance of personal
selling in modern marketing. [12]

Or

Define ‘Marketing’. Explain in brief elements of Marketing Mix. [12]

2. What do you mean by ‘buying motives’ ? State and explain consumer
buying motives. [12]
Or

Write detailed note on ‘Process of Sales’. [12]

P.T.O.



(a)
(®)
(c)
(d)
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Write short notes on (any fwo) :

Types of salesperson
AIDA
E-shopping

Problems in Selling.

[16]
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[4069]-223
S.Y. B.Com. EXAMINATION, 2011
TAX PROCEDURE AND PRACTICES
(Vocational Course)
Paper IV
(Wealth Tax, Service Tax and Central Excise)
(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any five) : [10]
(1) Define “Valuation Date” under W.T.
(2) What do you mean by “Debt Owed” ?
(3) Who is liable to pay W.T. ?
(4) What is “Service Tax” ?
(5) Under which authority Service Tax is levied ?
(6) What do you mean by “Special Economic Zone” ?

(7) What is “taxable event” under Central Excise ?

2. Answer in 50 words each (any two) : [8]

(A) State the various W.T. Authorities, their powers and duties.

P.T.O.



(i1)
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(B) How is the Net Wealth computed ?
(C) What is “manufacturing” and what is not “manufacturing” under
Central Excise ?
(D) What is the role of Chartered Accountant under Service Tax
Compliance ?
3. Answer in 150 words each (any three) : [15]
(i)  Which are the “Deemed Assets” under W.T. ?
(i) State the various taxable assets under Section 2(ea) of W.T.
Act, 1957.
(iit) Which are the special and general exemptions available under
Service Tax Act, 1994 ?
(iv) Write a note on “Value of Taxable Service”.
(v) What do you mean by “Self-Removal Procedure” under Central
Excise ?
4, Answer in 500 words (any one) : [7]
(i)  Write down the Registration procedure under Service Tax Act,

and Rule 1994.
Describe the basic routine procedure to be followed by the

assessee under Central Excise.
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